Key to Final Exam; F4360; 10:00 Class; Fall, 2001; page 1 of 4

Short answer questions/problems

1.  What evidence do we have about how stock prices actually behave on the ex-dividend date?

Fall in first few minutes of the day by an amount less than the dividend

2.  According to the dividend clientele theory, what type of stockholder will want to own low dividend stocks?

Those in high tax brackets

3.  Assume you receive transferable put rights from a company in which you own stock.  What can you do with these put rights?

1)  Sell puts, 2)  Exercise puts so that sell share back to firm, 3) let them expire (not usually optimal)

4.  Assume a firm announces its intention to issue common stock and use the proceeds to retire a portion of its outstanding debt.  How will this change affect the risk faced by the firm’s stockholders?

Reduce it.

5.  BRIEFLY explain how the current corporate tax code affects the desirability of debt in the firm’s capital structure from the stockholder’s perspective.

Increases desirability of debt since interest is tax deductible

6.  What do the existence of indentures reveal about capital structure decisions?

Conflicts of interest must exist between stockholders and bondholders

7.  What do we call the issuance of common stock that is made to existing stockholders?

Rights offering

8.  What do we call it when the firm must set aside funds each period to retire its debt?

Sinking fund

9.  Assume that your firm is trying to determine the risk of a new project it is considering.  What is one advantage of estimating this risk using the average asset beta for firms in the same industry as the project?  

Helps reduce sample error or helps when risk differs from firm’s existing assets

10.  Assume a firm is considering undertaking a new project that is less risky than its existing assets.  What type of error might it make if it uses the firm’s weighted average cost of capital for the discount rate on this project?

Incorrect rejection.

Key to Final Exam; F4360; 10:00 Class; Fall, 2001; page 2 of 4

Problems/Essays

1.  
a.  If we view common stock as a call on the firm’s assets, do dividend payments make stockholders better off or worse off?  Why?

b.  Explain why stockholders might be better off at the announcement of an increase in dividends than your answer in part “a” would indicate?  

a.  Better off.  When pay dividend, firm’s assets fall causing value of firm’s stocks and bonds to fall.  However, stockholders gain since get the entire dividend but stock value falls less than dividend.  In addition, the firm is paying out the least risky asset of the firm as a dividend.  Thus, the risk of the firm rises.  This increased risk further helps stockholders at the expense of bondholders.

b.  Stock price might rise due to the market interpreting the increase in dividends as a signal that management is optimistic about the firm’s future earnings.  Also, with the payment of dividends, the firm is more likely to have to issue securities in the future.  This potential issue provides the stockholders with monitoring and thus benefits stockholders.  

2.  Top Ten Inc. has just announced that it intends to issue debt and use the proceeds to repurchase common stock in order to increase the firm’s leverage.  Ignoring tax issues, how might this change make stockholders worse off?

Increased chance of bankruptcy increases expected bankruptcy costs from the debt

Loss of confidence in the firm might lead to lost sales, loss of key employees, loss of supplier credit.

Increased chance that management will be diverted as attempt to avoid bankruptcy rather than maximize value.

Debt might be too expensive to issue due to high level of stockholder/bondholder conflict.  This conflict might lead to higher interest rates, restrictive covenants, requirement that debt be convertible.

3.  Global Reach Inc. has estimated that the beta of its stock is 1.2 and that the beta of its bonds is 0.3.  The market value of its bonds is $420,000 while the book value of the bonds is $400,000.  The market value of the firm’s stock is $1,800,000 while the book value of its stock is $500,000.  The return on T-bills is 3.3% while the market risk premium is expected to be 7.4%.  If Global Reach is considering investing in a new project that produces monthly cash flows with about the same risk as the firm’s existing assets, what rate should it use when calculating the NPV of this project?
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4.  Suppose you own stock in Y-Box Inc. and in Zony Inc.  Y has an expected return of 15% while Zony has an expected return of 20%.  Y has a standard deviation of returns of 28% while Zony has a standard deviation of returns of 41%.  The risk-free rate of return is 3%

a.  Sketch and label these two investments on a graph of expected return vs. standard deviation.

b.  If you can borrow or lend any amount of money at the risk-free rate, what is your best combination of Y and Zony?

c.  Identify and label a portfolio containing 10% T-bills and 90% of the portfolio in part b.

d.  Assume Zony’s stock price suddenly falls significantly but that you do not change any of your investments.  How will your answer in part “c” above be affected by this drop in Zony’s stock price?  Note:  Assume that the expected return on Zony remains at 20% after the price drop.

a.  Zony is to right and above Y-Box.

b.  Point of tangency on curve that extends to the left of the 2 points

c.  Point between intercept and point of tangency that is very close to point of tangency.

d.  As price of Zony falls, weight of Zony falls.  Therefore move closer to Y-Box.  New line is now below tangent point.  Return is now lower.

5.  Eli Industries is considering undertaking a new project that is expected to produce net cash flows with a present value of $120,000.  The project would require an investment of $100,000 in new plant and equipment.  The new facility creates considerable risk for Eli for a couple of reasons.  First, the investment is large compared to Eli’s existing assets, which only have a value of $150,000.  Second, the standard deviation of returns on the new facility is estimated to be 52% compared to the 37% standard deviation on Eli’s existing assets.  Due to a fairly high correlation between the new project and existing assets, the overall standard deviation of returns on Eli’s assets will go to 40%.  The required return on the project is estimated to be 15%, which is higher than the expected return on the market of 12%.  Note that this return also exceeds the yield to maturity on one-month Treasuries that earn 1.72% per year compounded continuously, one-year Treasuries that earn 2.08% per year compounded continuously, and two-year Treasuries that earn 2.83% per year compounded continuously.  Eli currently has outstanding debt with matures for $95,000 two years from today.  In order to fund the project, Eli plans to issue an additional $30,000 of debt also maturing two years from today.  Eli would also use $10,000 of cash to fund the project.  All additional funds would be raised by issuing common stock.  What will the value of Eli’s stock after the project is undertaken?

After the project:

V0 = 150,000 + (100,000 – 10,000) –100,000 + 120,000 = 260,000

Dt = 95,000 + 30,000 = 125,000

2 =(.40)2 = .16

rf = .0283

t = 2
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6.  Your boss at Masako Industries has asked you to explain how EVA adjusts accounting earnings and why such adjustments are necessary.  How do you respond?

It adjusts accounting earnings in a couple of ways:

1)   Subtracts a capital charge equal to accounting assets times the firm’s cost of capital

This adjusts accounting earnings so that it is consistent with the time value of money.

Key => accounting assets equals the net amount of spending that has not yet been recognized for accounting purposes.  This amount is being pushed to future periods for accounting purposes without recognizing the time value of money.

2)  Adjusts net income to generate better measure of performance

Focuses on ongoing operations of the firm

Does not amortize goodwill

Does not expense Research and Development, but capitalizes then amortizes over the useful life.

7.  Frodo Industries is contemplating selling a factory that it owns and has hired you to determine the lowest bid they should accept for this factory.  The factory is currently closed due to the recession but is expected to produce net cash flows of $100,000 per month beginning 6 months from today.  These cash flows are expected to remain stable through 2 years from today.  After that, net cash flows are expected to shrink by 0.75% per month through 4 years from today.  The required return on this factory is 13.5% per year compounded monthly.  What is the lowest amount Frodo should accept for this factory?
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